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Original equation

Subtract 4 from both sides.
Add 9 to both sides of the equation to X

18. You can also solve quadratic equations that do not factor into
perfect squares by using an algebraic method called completing
the square. In this method, a quadratic expression is made into a
perfect square. For example,

Er+ox+4=0 x +3

¥+ =—4

2 Ax
make one side of the equation 2+bx+9=—4+9 "
into a perfect square trinomial.
Simplify. 2+6x+9=5 i I 7
Factor the trinomial. (x+3)2=5
Take the square root of both sides. x+3=*Vh
Subtract 3 from both sides. xr=-3*xV5

The solutions in radical form are —3 +V5 and —3 — V5.

a. Solve x? + 10x — 56 = 0 by completing the square. Leave your
answer in radical form, if necessary.

b. Solve y* — 4y — 5 = 0 by completing the square. Leave your
answer in radical form, if necessary.

c¢. Solve x> + 4x + 1 = 0 by completing the square. Leave your
answer in radical form, if necessary.
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